

Quandri John
18/ENG04/070
ELECT-ELECT.

a) $\frac{dy}{dx} + y \tan x = 2 \sin x \cos x$

$P = \tan x$
 $Q = 2 \sin x \cos x$

$Q_1 = 2 \sin^2 x$

$IF = e^{\int \frac{\sin x}{\cos x} dx} = e^{-\ln |\cos x|} = \frac{1}{\cos x}$

$y \cdot IF = \int (Q \cdot IF) dx + C$

$\therefore IF = e^{-\ln |\cos x|} = \frac{1}{\cos x}$

$y \cdot \cos x = \int 2 \sin x \cdot \cos x dx$

$y \cos x = 2 \int \sin x \cos x dx$

$y \cos x = 2 \int \frac{1}{2} \sin(2x) dx$

$y \cos x = 2 \left(\frac{-\cos(2x)}{2} + C \right)$

$y \cos x = \frac{2 \sin^2 x + 2C}{2}$

$y \cos x = \sin^2 x + 2C$

$y = \frac{(\sin x)^2 + 2C \cos x}{\cos x}$

$y = \frac{\sin^2 x + 2C}{\cos x}$

b) $\frac{dy}{dx} + 2y = e^{3x}$

$P = 2, Q = e^{3x}$

$y \cdot IF = \int Q \cdot IF dx$

$IF = e^{\int 2 dx} = e^{2x}$

$y e^{2x} = \int e^{3x} \cdot e^{2x} dx$

$y e^{2x} = \int e^{5x} dx + C$

$y = e^{-2x} \left(\frac{e^{5x}}{5} + C \right)$

$y = \frac{1}{5} e^{3x} + C e^{-2x}$

c) $x \frac{dy}{dx} = x^2 + 2x - 3$

$\frac{dy}{dx} = x + 2 - \frac{3}{x}$

$y = \int (x + 2 - 3x^{-1}) dx$

$y = \frac{x^2}{2} + 2x - 3 \ln x + C$

d) $\frac{dy}{dx} + y = y^3$

$y^{-3} \frac{dy}{dx} + \frac{1}{x} y^{-2} = \frac{1}{x}$ (1)

$Z = y^{-2} = y^{1-3} = y^{-2}$

$\frac{dz}{dx} = -2y^{-3} \frac{dy}{dx}$

$(1) \times -2: -2y^{-3} \frac{dy}{dx} - \frac{2}{x} y^{-2} = -\frac{2}{x}$

Subst y^{-2} for Z $\left\{ \begin{array}{l} -2y^{-3} \frac{dy}{dx} \\ \frac{dz}{dx} \end{array} \right.$ for $\frac{dz}{dx}$

$-2y \frac{dz}{dx} - \frac{2}{x} Z = -\frac{2}{x}$

$\therefore P = -\frac{2}{x}, Q = -\frac{2}{x}$

$IF = e^{\int \frac{2}{x} dx} = e^{2 \ln x} = e^{\ln x^2} = x^2$

$Z \cdot IF = \int Q \cdot IF dx$

$Z \cdot x^2 = \int -\frac{2}{x} \cdot x^2 dx$

$Z \cdot x^2 = -2 \int x dx = -2 \cdot \frac{x^2}{2} + C$

$Z = \frac{-2x + C}{x^2} = -\frac{2}{x} + \frac{C}{x^2}$

$y = \sqrt{\frac{-2x + C}{x^2}}$

$y = \frac{\sqrt{-2x + C}}{x}$

$$d) \quad x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$$

$$\frac{dy}{dx} = x \sin 3x + 4x^{-2}$$

$$y = \int (x \sin 3x + 4x^{-2})$$

$$y = \int x \sin 3x - \frac{x}{3} \cos 3x - 4x^{-1} + c$$

$$y = -\frac{x}{3} \cos 3x - 4x^{-1} + c$$

$$y = \int x \sin 3x - 4x^{-1} + c$$

$$\Rightarrow \int x \sin 3x = -\frac{x}{3} \cos 3x + \int \sin 3x \cdot 1$$

$$= -\frac{x}{3} \cos 3x - \frac{1}{3} \cos 3x +$$

$$\therefore y = -\frac{x}{3} \cos 3x - \frac{1}{3} \cos 3x - \frac{4}{x} + c$$

$$) \quad (x^3 + xy^2) \frac{dy}{dx} = 2y^3$$

$$\text{let } y = vx$$

$$(x^3 + x(vx)^2) \frac{dy}{dx} = 2(vx)^3$$

$$x^3(1+v^2) \frac{dy}{dx} = 2v^3 x^3$$

$$(1+v^2) \frac{dy}{dx} = 2v^3$$

$$\frac{dy}{dx} = \frac{2v^3}{(1+v^2)}$$

$$v + x \frac{dv}{dx} = \frac{2v^3}{(1+v^2)}$$

$$x \frac{dv}{dx} = \frac{2v^3}{(1+v^2)} - v$$

$$x \frac{dv}{dx} = \frac{2v^3 - v(1+v^2)}{(1+v^2)}$$

$$x \frac{dv}{dx} = \frac{2v^3 - v - v^3}{(1+v^2)}$$

$$\frac{dv}{dx} = \frac{v^3 - v}{x(1+v^2)}$$

$$\frac{(1+v^2) dv}{v^3 - v} = \frac{1}{x} dx$$

$$\int \frac{1+v^2}{v^3 - v} dv = \int \frac{1}{x} dx$$

$$\int \frac{1+v^2}{v^3 - v} = \ln x + c$$